109 - HESRER T B AINPS TR - 4R

51— FEE 51= R 51= R ST
- 2-1-4 E%d.%& 2-2-2 = 1-4-2 %
Eﬁ?ﬁgﬁﬁﬁ Y R e e N i IR (B
BEPIH | CBED B SRR WA ¥
( Bl st s Al
U’FJ) = S AEMES = s
Uiy if' e Eft%
‘\:—?#\ K -_r E;JFL#
- o 2l 13-4 77 343 (B
i AR R SR
I { g (g8 fwl R Rt ek
R A ‘%‘fk@ BEEAREL E'E"* SRIERI
p J’f @3 1: géﬁg itjgmpj B
“Ef/. Jﬁmﬁumlp e AR
?E} Bz pfjﬁ:-}; F:—;F[’FL[
) o €}‘H§J«p€rﬁt-}1) o
3-3-4
)
EURNTER
S
© Iﬂ:\“[‘ 7‘0-\1/ [
p J?ﬂﬁl
= 1-3-2 67 4 2-3 i 1-3-1 7 Hy 2-4-2
’Z'F:JE%J% CEffet * [l Fle BN £i7E (Flepudifd e
s P a4 Cp | wnmr | miap (o
ERAEDIFIRY R B | AT e | IR
i - =i ff%%ﬁ g
PSR - 2-3-3 4 PR o
i FIFT
2-1-2 55 i FllEEE Fre 1Y
Fre lgpip£E 5 CpyBl
e ) wﬁ%mﬁﬁ>
[ Fet] é% EI’?%J:’EIEIUTLJ %
OB R B

A %

EINC




B S
213 G
) fu

%ﬁ)wh@
I

V] 2553
i (R PL
I (Bl
EIJ ) o
P4 3-2-4 F%fn
ST ST (O
e M)
1 FFT—FLA E}?’Fj
SPE i i
Qﬁﬁ F
SR Pl zpnj%i?a) jms
B 5 *ﬂw%w f?ﬂa@

jﬁ%puw
o

4-3-2 ﬁkﬁéll
L R
@)mﬁﬁg
P
I/[I]FT ﬁi%ﬁ&clv

R




